
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

2 + (−10) = 10 − (−5) =3

8 + (−9) =2 (−7) − (−4) =2

6 + 6 =2 6 − 7 =2

(−1) + 7 = (−8) − (−1) =3

1 − 8 =3 2 + 10 =3

(−6) − (−3) =2 (−6) − (−4) =3

(−1) + (−1) =3 (−8) − 9 =3

(−2) − (−10) =3 (−7) + 9 =

9 + 4 =3 (−10) + 10 =

10 − (−10) =3 10 − (−9) =3
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

2 + (−10) = (−8) 10 − (−5) = 10053

8 + (−9) = 552 (−7) − (−4) = 532

6 + 6 = 422 6 − 7 = 292

(−1) + 7 = 6 (−8) − (−1) = (−511)3

1 − 8 = (−7)3 2 + 10 = 183

(−6) − (−3) = 392 (−6) − (−4) = (−212)3

(−1) + (−1) = (−2)3 (−8) − 9 = (−521)3

(−2) − (−10) = 23 (−7) + 9 = 2

9 + 4 = 7333 (−10) + 10 = 0

10 − (−10) = 10103 10 − (−9) = 10093
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